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image9.png
1 mark for each correct device

Description of input or output device Name of device

This is an input device that works by shining a light onto the surface of a document. The
light source is automatically moved across the document and the reflected light is captured 2D Scanner
by mirrors and lenses.

This is an input device where a laser or a light source is moved across an object. The

width, height and depth of the object are measured to allow a model to be created. 3D scanner
This is a large input device that is usually fixed to a wall. A user can calibrate the device to .

. . ; - . A Interactive
make sure the sensors align with a projected image. The user can use either their finger or whiteboard
a special pen to make selections.

This is an output device that uses many small mirrors to reflect light towards a lens. This Proi
rojector

will display an image.

This is an output device that creates an object by building layer upon layer of material. 3D printer
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RAM

o To store the data / instructions / parts of OS that are currently in use
ROM

o To store the firmware / bootup instructions / BIOS

SsD

o To store files / software // by example

Two from:

It is more durable // it has no moving parts

It has a faster read / write / access speed

It is more compact / light weight / smaller / portable
It uses less energy // battery will last longer

It is quieter

Not affected by magnetic forces

It runs at a cooler temperature

Less latency // takes less time to warm up

8 8 8838 8 8 8
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10 1 mark per correctly placed tick

statement

takes one statement at a time and executes it

interpreter | compiler

generates an error report at the end of translation of the
whole program

stops the translation process as soon as the first error is.
encountered

slow speed of execution of program loops

translates the entire program in one go
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Question

Answer

Marks

6(b)

Four from (max 3 marks for benefits only, without an explanation):
e More read/write cycles (over its lifetime) / greater longevity ...
... likely to be a lot of read/write functions each day
Read/write speed is sufficient ...
... even though it is slower than solid-state
Cheaper per unit of data stored ...
... better value for the company to purchase
... so the law company can afford to buy a server with greater storage capacity
No requirement for portability ...
... as a server, it does not need to be moved
Trusted technology ...
... it has been traditionally used for many years

6(c)

DVD
e CD
e Blu-ray





imageb.png
One mark for each correct row:

Statement BIZ’ /l;ay ?‘P) ?‘j?
A type of optical storage v v v
Has the largest storage capacity v
Can be dual layer 4 v
Read using a red laser v v
Has the smallest storage capacity v
Stores data in a spiral track v v v
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One mark for each correct row:

Statement T('}")e F(a‘l/s;e
It is a flat panel display v
It creates images using red, green and blue diodes v
It is not very energy efficient and gives off heat v
It is also used in mobile devices such as smartphones and tablets v
It is a front-lit display v
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Question

Answer

Marks

6

1 mark for each correct term, in this order:
« Interrupt
+ Compiler
+ ALU/Arithmetic and Logic Unit
+ ARQ/Automatic repeat request
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Question

Answer

Marks

4

1 mark for each correctline up to a total of 5 marks

Component

Description

Aithmetic Logic
Unit (8LU)

Used 1 connect wogeter
e intermal com ponents

of the CPU
Used to carry out
Buses caleulations on data.
Used 10 tem poreril yhold
onn(u(;:t| )umu dataand instuctons

duting processing.

Immediate Access

Used 1o alowinteracton

Store (145) with the com puter.
Used 1 hold data end
InputiOutput insvuctons before ey
ere rocessed.
Fegistrs Used 1o manage e flow

of data through the CPU.
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Question

Answer

Marks

6

1 mark for each correct missing word, in the given order:

~ fetches

— immediate access store // IAS

~ program counter // PC

- memory address register // MAR
- memory data register // MDR

~ executed

~  arithmetic logic unit // ALU

~ accumulator// ACC
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(b)

description of stage

sequence
number

the instruction s then copied from the memory location contained in the
MAR (memory address register) and is placed in the MDR (memory data

register)

the instruction is finally decoded and is then executed

the PC (program counter) contains the address of the next instruction to be
fetched

the entire instruction is then copied from the MDR (memory data register)
and placed in the CIR (current instruction register)

the address contained in the PC (program counter) is copied to the MAR
(memory address register) via the address bus

the address part of the instruction is placed in the MAR (memory address
register)

the value in the PC (program counter) is then incremented so that it points
to the next instruction to be fetched

The incrementation of the program counter can appear at any stage after 2. Al other

stages must be in the correct given order.

(6]
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(a)

address bus

control bus

data bus

2/3 matches — 2 marks
1 match — 1 mark

this bus carries signals used to

coordinate the computer's
activities

this bi-directional bus is used to

exchange data between
processor, memory and
input/output devices

this uni-directional bus carries
signals relating to memory
addresses between processor
and memory

21




